| SECTEQN 1 1 Test 11 Schofield & Sims Mental Arithmetic 3 Answers SECTION 1 | Test 12
1m 50cm + 10 =& cm ~15cm ot Inalibrary there are 138 fiction books - 5505 -50C = 5005 “1. Divide thesum ot 7,11, 6 and 4 by /. 4
and 144 non-fiction books. How -
2 Tkg+375g=2¢ 8759 many books are there altogether? 282 520 100% 21 = 2100 2 How many 30cm lengths can
.. - 12: What fraction of 1 hour is E be cut from a 3m fength? 10
“3 7300+ 100= 737 a 1 i3 14cm + 15cm + 16cm = 45cm L
) 1 5 a 20 minutes a__ _3h . 3 Find the cost of 2L 250ml of
. 3 . : : .
i5 £3.00-£113 = £1.87 °3 8kg 500g is divided into 10 equal & 2808 + 250 4+ 45p = £ £098 ‘4. What must be added to 7 + 9
: N quantities. What does one of the 2 cep T eop P ) o : to equal 7 x 97 47
e _ - quantities weigh? 850g .
6 450km — 360km _30km ) ) 6: £10.46 = = 10ps + 6p 10410P5 5. 300 keyrings cost £18;
7 247 4 £1.63 = £490 . 4 ruch 3t me 200m Find the cost of
' . will 20 . a 100 afé.
g ;m= . mm .. 1500mm cans ‘8 8am.tobpm.=:h _1oh b 10. b 60D
: cost? £450 o ' f
9 (7x8-5x6)= .26 8. \Write these fractions in g 1%kg -600g=":g 2009 | 6 Find the length, in millimetres, .
I e ; of the length marked '?". _30mm
10 25mmx 8= cm _20cm . — 19 : '1 1 1 1 40 5x 7+ {(10x8) = o e o
i A LI I J S 1 i o . Bl
' i 8 6 W 12 3 3 I3 E] 10, . 12 - ..: 5¢m
SF 10._2?] am. 101210 o.m. b aemn | 4t 2i-200ml = ml  ssomi o ,
B i o mn- -6 By how many metres is the sum of , ; G i7
870 d 650m than 15km? 20m 12 36 +9)+(100+10) = 14 Sy
12 (L ofa2)- (1 of18) = 'R m an more k 12 Y+ ) SR [ I -
' - Which number when multipliec by '
itself equals 647 .8 ‘7. Dan goes to bed at 7.45 p.m. and
3 Write the length of a ling 100 times _ . ; Ece)tusr:ips ?wtei'r?ijdr:. How many 19h
1. Write seven-tenths as a decimal. 0.7 longer than the line YZ 1 Find the sum of 73 and 48, o . 2h
a in centimetres a_.. .. 63am . : : 8 William bought the chess set at a
. , . 22 Write 1560 P . .
2. \N_nte the next two numbers in b in metres. b G%m EE anrc‘i i@iilimeTrg]s as metres im 5EOMMm guarter less than the advertised price.
s : i 20 30 40 50 60 70 S
36, 48, 60, 72, r _84 . 96 ; mn’l] I | | | | | ! o | I | | t 3 Find ha|f Of ’[he sum of sz and qu_ o 15[0
3. Find the total of £2.36 and £0.99. £3.35% Y F: . , ‘:
' ‘ 4 What is the productof 4, Sand6? 120
4 = of a sum of money is £45. . . '
* 70 G )
Find the whole amount. £50 -9 LUhCy 235 ;cgeegimes as ?Lﬁm athakOb 5. How many eighths are there o ) .
; V\;’ . ar:- ? P Tiow meh have ey £1.80 ' in 7 whole ones? e84 T 4500m The diagram
‘5 Write 96 using Roman numerals. _XCvl alicgetner: £1.80 ... | E atimg STOWS two
10 Thisis a 6 Find the costof 24 eggs at 6p each. £1.44 B T chw.!dren 5
‘6 How many grams are there in 5kg? _100g plan of a | 3 heights.
: playground. “7: What is the remainder when ! E How much
7+ What is the difference ' - 61 is divided by 9? Y —3130m taller is Fatima
between 42 and 4207 378 ' ‘. = than Amy
- N kets of cri £ £2.16 ' £8: How many years are there : 1120em a incentimetres a___ .. 17cm
8 Six packets of crisps cost £2.16. : How many times must George run ~ from 1984 to the year 20207 - |- ) b in millimetres? b 170mm
What is the cost of one? 36p round it in order to run 1km? 5
Write 250mm in metres. i %m_ 1t If Tkg of salt costs 40p, :9. What number is 101 less than 10007 892 10 How many 200ml cups can be
' " find the cost of _ ) filled from a bottle holding 417 20
10 Add 2 times 9 10 5 1 _ 110 100 chocolates cost £10.00. - _
e 05times 9. . .83 - a 100g a._.__ .. 8p Find the cost of one. - 10p = 1 Write 94 using Roman numerals. Xy
If five crackers cost 30p, ; b 6004. b 48p ) o | |
what will 15 cost? 90D | o . (1t Add the numbers between 12 There are 2055 people in a village.
S TR zu’f ‘fh@;? dea;nals In 20 and 35 that can be divided 3: Write the number of people
escending order. . |
g exaCtly by 3. 56 : a to ‘the nearest 10 a2060
69 63 131 18 37
2 Find the cost of 35m of richon at : b 1o the nearest 100 b 2180
134 6.9 6.3 37 .18 16p per metre. ____._.B6p ¢ to the nearest 1000. C 2000
15




